
Es.N.035CdSdC BG04 Profilo sottile Esempio 5 Nome:

@ Adolfo Zavelani Rossi, Politecnico di Milano

y,Ty

My

75

-75

0

θ,Mt

z,N
Mx

cm

x,Tx75-75

0

t=6 t=
4

t=6

t=
4

154

15
6

A B

CD

CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = -99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

uO = 0 cm
vO = 0 cm
AN = 3000 cm2

Ju = 12375000 cm4

Jv = 10125000 cm4

Jt = 16200001 cm4

τ(Mt) = -555 N/cm2

σ(Mx) = 605.5 N/cm2

σ(My) = 740 N/cm2

σ = 1345 N/cm2

τ = -555 N/cm2

σI = 1545 N/cm2

σII = -199.4 N/cm2

σMISES = 1654 N/cm2

σGUEST= 1744 N/cm2

σID = 1611 N/cm2

θt = -.00008222 /m
rU = 64.23 cm
rV = 58.09 cm
rO = 86.6 cm
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = -99900000 Ncm

My = 99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

uO = 0 cm
vO = 0 cm
AN = 2112 cm2

Ju = 7380000 cm4

Jv = 2171776 cm4

Jt = 5181130 cm4

τ(Mt) = -1095 N/cm2

σ(Mx) = 1015 N/cm2

σ(My) = -1748 N/cm2

σ = -732.7 N/cm2

τ = -1095 N/cm2

σI = 788.7 N/cm2

σII = -1521 N/cm2

σMISES = 2034 N/cm2

σGUEST= 2310 N/cm2

σID = 1784 N/cm2

θt = -0.0002571 /m
rU = 59.11 cm
rV = 32.07 cm
rO = 67.25 cm
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = -99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

uO = 0 cm
vO = 0 cm
AN = 8400 cm2

Ju = 0.1350+9 cm4

Jv = 0.4680+9 cm4

Jt = 0.3240+9 cm4

τ(Mt) = -69.38 N/cm2

σ(Mx) = 111 N/cm2

σ(My) = -64.04 N/cm2

σ = 46.96 N/cm2

τ = -69.38 N/cm2

σI = 96.72 N/cm2

σII = -49.76 N/cm2

σMISES = 129 N/cm2

σGUEST= 146.5 N/cm2

σID = 113.3 N/cm2

θt = -.4111-5 /m
rU = 126.8 cm
rV = 236 cm
rO = 267.9 cm
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = -99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

uO = 0 cm
vO = 0 cm
AN = 6800 cm2

Ju = 99000000 cm4

Jv = 0.1867+9 cm4

Jt = 0.1920+9 cm4

τ(Mt) = -104.1 N/cm2

σ(Mx) = 151.4 N/cm2

σ(My) = -107 N/cm2

σ = 44.33 N/cm2

τ = -104.1 N/cm2

σI = 128.6 N/cm2

σII = -84.23 N/cm2

σMISES = 185.6 N/cm2

σGUEST= 212.8 N/cm2

σID = 156.6 N/cm2

θt = -.6938-5 /m
rU = 120.7 cm
rV = 165.7 cm
rO = 205 cm
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = -99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

uO = 0 cm
vO = 0 cm
AN = 5200 cm2

Ju = 63000000 cm4

Jv = 41333328 cm4

Jt = 72000000 cm4

τ(Mt) = -208.1 N/cm2

σ(Mx) = 237.9 N/cm2

σ(My) = -241.7 N/cm2

σ = -3.836 N/cm2

τ = -208.1 N/cm2

σI = 206.2 N/cm2

σII = -210.1 N/cm2

σMISES = 360.5 N/cm2

σGUEST= 416.3 N/cm2

σID = 278.8 N/cm2

θt = -.0000185 /m
rU = 110.1 cm
rV = 89.16 cm
rO = 141.6 cm
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = -99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

uO = 0 cm
vO = 0 cm
AN = 7200 cm2

Ju = 56000000 cm4

Jv = 0.3600+9 cm4

Jt = 0.1571+9 cm4

τ(Mt) = -104.1 N/cm2

σ(Mx) = 178.4 N/cm2

σ(My) = -83.25 N/cm2

σ = 95.14 N/cm2

τ = -104.1 N/cm2

σI = 162 N/cm2

σII = -66.85 N/cm2

σMISES = 203.8 N/cm2

σGUEST= 228.8 N/cm2

σID = 184.3 N/cm2

θt = -.8479-5 /m
rU = 88.19 cm
rV = 223.6 cm
rO = 240.4 cm
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